BALL SCREW

CATALOGUE 2006.

GNR - Series

SRF - Series / DXF - Series

//

< o
. '5,. g

YR OIS S

ZA/SE

47| HEAl ERH Fot2| 3841

TEL: (031)986-8432~3
(031)989-8432~3

FAX: (031)986-9623

E.mail:mrpco8433@yahoo.co.kr

lc - BE

5

Ho (D : izl

SoET O
TEIL A3

069€-929¢(¢0




MJ—E\? STANDARD PARTS BAI.I. SCREW m

SRF - 0000B

DRF - 0000B

DXF - 0000A

e 77 B




) STANDARD PARTS

s s 6 10 20 25 32 40 50
15 0 e 0
0w [go° PERE
5 |aq° e e
98 0C0® C0®
32 2 0® jo0oe on ° °
" 580 509 |,
40 coe |, .
45 °©0®
50 coe |
0 : ¢4 23828 A24E (SRF, NX) B AR 2378 K-type HE (GNR)
oAb AgE E]_g_cﬂ ol y& (DRF) 1 Az 2354 U-type HE (GTR)
@ DA 23578 AZAAHE (DXF)
E22 LA ZEEE (24
aras] s 6 10 20 25 32 40 50
15 O O
16 Oe P
20 o e o e
25 o e o e
28 O
392 e [
36 Oe
40 oe
45 o
o0 oe

ik e Y& (ULF)
« UL 9138 GTRA 53

¥R SPECIAL ORDER MADE BALL SCREW (EZZ

PRECISION BALL SCREW : ¢ 15 ~ ¢ 150 (MAX 3000L)
ROLLED BALL SCREW : ¢ 15 ~ ¢ 100 (MAX 6000L)

HEEEQ| §F BAARL wrNo| ME T A=HS o3t
SILIAY, USSTPLIAL, CHELEAL ZTBHELIAL
S48t 2ASRE MG Ut
5| SHElY BAIRO| A2 20| 8D H3to| Xt

DEs 2437 YLrdHe

35 ¢ 15~ ¢ 150 x MAX 3000L

o A
q 35 ¢ 15~ ¢ 100 x MAX 6000L

%

Las

Al
i

S5 LFA 7IiAre (20| A=ER)

FEA, weo] w24
DjzHEE x| EHEI’.‘:.*OM 9] Aol ol



MY ELpAl| BEE Y AT 20f9] o[

N Bt R CREBE) (FEMD) . B 3 _ _
z\*ﬁ%ff& &0 i & = e — T FA7|REE - B4 FH AR s ZANE B o] netis SR EE A% gho 2 AT Sk Qlrk
Wx( : i A7)z 20 A EEA (£ BA) - WS 9ReRE B 2920 o3t A% 52 mejslol
BB | BRRE | o | BERE | o | BERE | g | BHRE | . | BHRE | . |BRE | B R _
JE T o | dsame | B0 g | B9 Goae | B goa | BB gocee | B9 i |oeme _ SIS Z“lr_?%E - El + 2 A 2 9l
- | 315 4 3.5 6 5 8 7 12 8 93 18 e e e e e e E e i
315 | 400 5 | 35| 7 5 9 7 13 0 | 2 | 20 |+005m | +0im FAREAE (£ 3A) - AR ES S Fdohe Ao AR AR ES Yeiie 4
400 | 500 6 4 8 5 10 7 15 | 10| 271 | 20 ﬁ @ ) ) BatA| E= A X]”‘j“'ﬂ%jqi T, )
500 | 630 6 4 9 6 1 8 16 19 20 93 B — YA gt %‘Xﬂ”“ﬂcgl QA EZ}% XLOl ZojAE Zoleith
800 | 1000 S 6 1 3 15 10 921 15 40 97 SEHA3A) - AR A ?:1—4§ %y 1Q;ﬂl‘H°ﬂ/\1 f-—lxﬂol%ﬂﬂ' 7|2 2ke] Ao,
1000 | 1250 9 6 13 9 18 1 94 16 46 30 | wroe | mras
1250 | 1600 11 7 15 10 21 13 29 18 54 35
1600 | 2000 - 18 1 95 15 35 91 65 40
2000 | 2500 - 92 13 30 18 41 24 77 46
%3 AN 9 SR R (YA AR
IATEA ME B ¥ (HRC)
[w]idu]| B 70N I
2| FEEAEHT
— MHIX =20 s
LFAHi SUJ2 EAEN N 59~63
a1
HE SCM415 FREA 58~62
UAHE 2
. gHsAeE
0 ke 4
T —— PR T SREAEEAE S S [ H AR = L=
B B /M / i RIS LA | Zupsk ol A
~ \ —
oA gitezae S T\ [T~
T~ _ Zuk Zejojd A 0 WL F 0~0.01 0~0.02 0~0.05
1314 5 &) = ~l—t
300mn ZREEe Tt
u ~HIStE E
O2HHSoA Misk= SLIALS] SeF EM (Clearance)
. LA Z10]300mno]| o Tyl SE29] 7% (844 dolm DRFA2]|2 - GOH mho]u 2 Clearanced ¢t BEH EELS)

DXFA 2| = - GO H}OM/\ Clearance ¥4 % I UHEER
SRFAIE|2 - G1F AW EER]
NXAlZ|2 - Gl A2 EE}%}




©) @)
m STANDARD PARTS m STANDARD PARTS

PRECISION—-BALL SCREW ROLLED BALL SCREW

NX - Series UM 2AIZ (EHES) GIR / GNR - Series HE EAIZ (EEA)

GTR - Series GNR - Series

NX-Series = g olat BAa2ax A2ty a7 gelojn ZREFo|T} ME EATS(EER)= M| AAH| o5t AMAMZ XH7tZHS AlSIEIYD
H| 1A A5k A% A3Fsl Low lead?} High leads ¥ 97F H<& — _ - -
e e g O Lo lead S High lead RV HEE NIBUE oin on HU B £1t HE

€3 o BAIR UREES BacklashE S017) S 300l 7o ke
Az slo] gon AT 2YH H0} YEL 11 2YEOE

7o Fro|ahe FIAL ATt (AAAT RO oul ZLE A} GTR-Series= U- typeo}u:] %—/E‘_%Eﬂ HE 9F¢to & ufy Hofgl= B e E
970l Zom FH7F L oFH AYst] HE A4S F39tt,

ZHAZF A 2L 3 AS 71E A 2 WEL 2o A Halsly| WE ofof o)1 ol 2] AL uy] o) Hel4 erel Aguol
2u 2e el 7 Wo 42 o] gt
o] 3% HE Yio] olgo] EsHA HEF AT 2-E TS 7S
80}”1 TLW VE) 2 2}y o= tolotE, Al olH 5
ol-gsto] ALe|u] A AE A3 djof it

GNR-Series® K-typeold Hz2o] HWE 5194 ¢lo] 7| A EA o 24 F2tats =

Az ZHE €}Qlo|t},
HE QAL o)t o] 2] EQ1S ] i3] Bal4] B Aol
A2 of 9lr}



©) @)
m STANDARD PARTS m STANDARD PARTS

PRECISION-BALL SCREW PRECISION—-BALL SCREW
SRF - O0O00B SOIoIA BASE (BEEE) DRF - OO0O0B

HUAM EAFE (SHEY)

¢, S S

AMSHE LEFRA (B type) HE GYRE 7Z LU EM (B type)
ABE= 7F (Gothic drive) 2MB=E A5 (Circular drive)
(2.5 x 2)

(2.5turn x 1 circuit) (2.5turn x 1 circuit)

A nut (25x2) B nut (25x2)

/\(Spacer)

|—\/ Screw shaft

SCREW SHAFT

Load <t= 5turn == Load

Load <t 5turn === Load

AEWE A4 L7 WiT2e 4 HETAEADY 71E4E 2 it A, BHE Apoof] QIAHAARE F= 249 Spacers A5t Y& FEEABacklash 4|7 %
BFle 2= 158X1Y, 2.5%1, 2,5%2, 2.56x3 o] 31.on A(Turn) B (Circuit) FFAL Fda = BolH o)k mAARe tid Rdony,
Fa U4 (Load trun) 2 35S W=t}
X EEE WREE0| Ol REMI(EE 2HE)7E 2H(=l0 20 H717F HEEH
x HEES HREE0| Ool BEMI(E= AME)7E AH[Z|0f QU0 H717F HEE E%(Special orden)Aloll= 2L} WHE E7(7} 0|F0 Z4 QlCh
E7(Special order)Al0l= 2Ct 2 E7|7} 0|F0f 24 UL,

10 1



O @)
m STANDARD PARTS m STANDARD PARTS

PRECISION—-BALL SCREW

PRECISION-BALL SCREW
DXF - OO00A YoM EATR (EHES) DXF - O0O00B SR S T

{ o U 5 5 g 5

UM HUHE 712 & EM (A type) U GUHE X Y EN (B type)
2HM= 1= (Circular drive) 2HTZE 1= (Circular drive)

SCREW SHAFT

SCREW SHAFT

Load <— 2.5turn = Load Load <= 5turn == Load
HERES PP o WEYR A B HEA o] S 2 HUshift 7H-S o] HEREY P o WEYR A B HEAo|] S 2= HUshift 7H-S sl
qAS FHEA FH O HEUES} U 7]5& 2=t} AAE FHEA FTY HEHES} 54U 7|5S 2=t}
T HEUE o FH A, B RES] HA A (A, B7F §HE, A, BIF 3 4%5)9 Y HEHE 9 Tl A, B HES] A AL (A BT A=, A B A=) HA sk HE
WA sk HE Y 7 EATATE Q9o YAIE WEE A, BIE AAE HE7E d 73t EATATE 9o YAIE WEE A B IHE HAIE 87| 9%
AL7ES k7] wiwell A, BX 4EsdE, A4=9 HEd 247k A5 ik 7hE 3107 Rl A, B AT EAIE, XZtw o] ujEY BA7F Ad it

Ade] 12 BeRrg A SHA A4t 3 e T HEHEHE EA 5 AT-Ee 18 HolRr g HAst SEA, Astt 3, YA A HEHEHE B4 5

S 2t A e dEUE v|8| & EAJo] st SUFal 25| A FEf HEREo| ] F2F EAo] ottt

% BEE HER20| i BEEMI(EE 2AXE)7t 2|0 U0 E717} HEEH ¥ HEE E20| CHEfe| BEEM(Ee AHME) 7t 2|20 J 77} SHEEH
EZ(Special ordernA|d= £t iE E7(7t 0|20 Z4 QlCt EZ(Special ordenA|0= HC} 2 E7(7t 0|20 &4 QlCt,

12 13



14

O
[\I\_/AE STANDARD PARTS

PRECISION - BALL SCREW

2-SEAL

Il

dr
|

Oil hole

dr

Ln

U
s_l
I
|
]

[

x
-

L1

L2

Ls

Nut (Dimension)

Screw shaft length

NX - Series
a0° 30 Q
Qil hole
/ / v
= T T
\l yanv pCD
R
t - 4-Set hole
X.Y.Z
w2
VIEW X-X
Model Screw .Ball Root Load rating Stiffen
diameter | lead diameter diameter | Turn x Circuit Ca Coa o
number d | Da dr Kgf  Kgf | R9/um

NX-1505 5 3.175(1/8") 12.4 25 x1 700 1280 13
NX-1510 15 10 3.175(1/8") 12.4 25 x1 700 1290 13
NX-1520 20 3.175(1/8") 12.4 15 x1 470 820 8
NX-2005 5 3.175(1/8") 17.4 25 x1 840 1780 15
NX-2010 20 10 3.969 (5/32") 16.7 25 x1 1150 2320 18
NX-2020 20 3.969 (5,/32") 16.7 15 x1 730 1340 11
NX-2505 5 3.175(1/8") 22.4 25 x1 960 2270 17
NX-2510 25 10 4.763 (3/16") 20.9 25 x1 1630 3420 21
NX-2520 20 4,763 (3/16") 20.9 15 x1 1060 2100 13

Body Flange Set hole
Ln | T |PCD Ls L1 (Ls-L2) L2 | C | B
D W1 w2 X 'Y Z Q
41 | 10 610. 810. 1010. 550. 750. 950.
610. 810. 1010. 550. 750. 950.
34 50 34 52 (12| 45 | 55 9 55 M6 1910. 1150. 60 | 5 | 30
610. 810. 1010. 550. 750. 950.
60 | 12 1210. 1150.
40 60 40 48 | 12 | 53 610. 810. 1010. 520. 720. 920.
46 66 46 54 | 13| 59 |65 105 65 M6 610. 810. 1010. 520. 720. 920. @ @ | @
1210. 1510. 11 0. 1420.
46 66 46 65 | 13 | 59 610. 810. 1010. 520. 720. 920.
1210. 1510. 1120. 1420.
47 66 47 48 |12 | 60 | 6.5 10.5 6.5 610. 810. 1010. 500. 700. 900.
810. 1010. 1210. 700. 900. 1100.
52 78 52 65 | 15 | 68 9 14 85 M6 1610. 2010. 1500. 1900. 110 | 8 | 50
810. 1010. 1210. 700. 900. 1100.
52 8 52 70 | 151 68 9 14 85 1610. 2010. 1500. 1900.

15




16

O
[\I\_/AE STANDARD PARTS

SRF - 0000B

PRECISION - BALL SCREW

N

L*I ~
2-SEAL
< E[
_ / L| ﬁ
of 5| 4— - /A g e —H— - — —-—
/1l a | / //
0il hole — 7/ L Q/ Q/
——m—LD - B
T
Ln N
FO - TYPE FD - TYPE L1 L2
Ls
Model Screw Ball Root Load rating Stiffen Nut (Dimension) Screw shaft length
ode diameter | lead diameter diameter | Turn x Circuit Ca Coa Body | FI Set hol
o] ange et hole
number d | Da dr Kgf  Kgf | Ko/um VTN Wl [T [PeD| S5V | a Ls Ll |L2]C|B
SRF-1605A 5 3.175(1/8" 13.4 2.5 x1 (1-tube) 750 1400 16 40 60 23 | 41 |10 | 50 | 45 8 45 M6 610. 810. 1010. 530. 730. 930. 80 | 5 |30
(1/8")
16
SRF-1605B 5 3.175(1/8") 13.4 2.5x 2 (2-tube) 1360 2800 33 40 60 23 | 56 |10 | 50 | 45 8 45 M6 610. 810. 1010. 530. 730. 930. 80 | 5 |30
SRF-2005B 20 5 3.175(1/8") 17.4 2.5 x2 (2-tube) 1530 3520 38 44 67 26 | 55 [ 11| 55 | 55 9 55 M6 610. 810. 1010. 500. 700. 900. 110 | 5 | 40
" 610. 810. 1010. 480. 680. 880.
SRF-2505B 25 5 8.175(1/8") 22.4 2.5 x2 (2-tube) 1690 4470 46 50 73 28 | 55 |11 | 61 | 55 9 55 M6 1210, 1410. 1080 1280. 130 | 5 | 50
SRF-2805B 5 3.175 (1/8") 25.4 2.5 x2 (2-tube) 1780 4990 50 55 84 31 | 56 |12 | 69 |65 105 65 | M6 612-218;0-1142100- 45:%8068(:.28%80. 130 | 5 |50
08 ! ! . }
610. 810. 1010. 480. 680. 880.
= 5 T : . 52 55 84 31 | 63 [12 | 69 [6.5 105 6.5 | M6
SRF-2806B 6 3.969 (5/32") 24.7 2.5 x2 (2-tube) 2380 6100 1210, 1410. 1080, 1280. 130 | 5 | 50
" 610. 810. 1010. 450. 650. 850.
SRF-3205B 5 3.175(1/8") 29.4 2.5 x2 (2tube) | 1870 5740 55 58 84 32 | 56 (12| 71 |65 105 65 | M6 1210. 1510, 1050, 1350, 160 | 5 | 60
" 610. 810. 1010. 450. 650. 850.
SRF-3206B 32 6 3.969 (5/32") 28.7 2.5 x2 (2-tube) 2520 7120 57 62 89 34 | 63 |12 | 75 |65 10.5 6.5 | M6 1210. 1510. 1050. 1350. 160 | 5 | 60
610. 810. 1010. 450. 650. 850.
- . " . 2-tub .
SRF-3210B 10 6.350 (1/4") 27.1 2.5 x2 (2-tube) 4730 11040 62 74 108 41 | 100 | 15 | 90 9 14 85 M6 1210. 1510. 1050. 1350. 160 | 10 | 55
" 810. 1010. 1210. 630. 830. 1030.
SRF-3606B a6 6 3.969 (5/32") 32.7 2.5 x2 (2-tube) 2730 8100 64 65 99 38 |67 [15| 82 | 9 14 85 M6 e e 1330. 1630, 180 | 5 | 70
" 810. 1010. 1210. 630. 830. 1030.
SRF-3610B 10 | e.350(1/4") 31.1 25 x2 (2ube) | 5010 12450 67 75 119 | 45 (100 [ 18 | 98 | 11 175 11 | M6 1510, 1810, 1330, 1630. 180 | 10 | 70
" . | 1210. 1510. 1810. 1030. 1330. 1630.
SRF-4010B 40 10 6.350 (1/4") 35.1 2.5 x2 (2-tube) 5320 14080 73 82 124 47 [100 | 18 | 102 | 11 175 11 [1/8 9110, 2410. 1930. 2230, 180 | 10 | 80
. | 1210. 1510. 1810. 1030. 1330. 1630.
SRF-4510B 45 10 6.350 (1/4") 40.1 2.5 x2 (2-tube) 5630 16070 81 88 132 50 [100 | 18 | 110 | 11 175 11 |1/8 2110. 2410. 1930. 2230 180 | 10 | 80
SRF-5010B 50 10 6.350 (1/4") 45.1 2.5 x2 (2-tube) 5910 17860 88 93 135 51 [100 | 18 | 113 | 11 175 11 [ 1/8" 12122'1(1)5134110810' 1%(1)'0132123'01610' 200 | 10 | 90

17



18

O
[\I\_/AE STANDARD PARTS

DRF - 0000B

PRECISION - BALL SCREW

_ /1 “| ﬁ ﬁ
of +— -4 - Hetlhrs
— 7/ JQ/ Q/

dr

Ln

L2

FO - TYPE FD - TYPE L
Ls
Model Screw Ball Root Load rating Stiffen Nut (Dimension) Screw shaft length
eeiz diameter | lead diameter diameter | Turn x Circuit | Ca Coa | Bodv [ Fi Set hol
m [o) ange et hole
number d | Da . Kgf Kgf g/u Dy Ag H | Ln| T |PCD Xy z Q Ls L1 sL2) L2 | C | B
DRF-2005B 20 5 3.175(1/8") 17.4 2.5 x2 (4-tube)| 1530 3520 73 44 67 26 (105|111 | 55 | 55 9 55 M6 610. 810. 1010. 500. 700. 900. 110 | 5 | 40
. i 610. 810. 1010. 480. 680. 880.
DRF-2505B 25 5 3.175(1/8") 22.4 2.5 x2 (4-tube) | 1690 4470 90 50 73 28 (10511 | 61 | 55 9 55 M6 L e 130 | 5 | 50
610. 810. 1010. 480. 680. 880.
- A7 " 25.4 ; 17 4 98 55 84 31 (106 |12 | 69 | 6.5 105 6.5 | M6
DRF-2805B 28 5 3.175(1/8") 5 2.5 x2 (4-tube) 80 990 1210, 1410, 1080. 1280, 130 | 5 | 50
610. 810. 1010. 480. 680. 880.
- u 24.7 - 2 1 100 55 84 31 [123 |12 | 69 |65 105 65 | M6
DRF-2806B 6 3.969 (5/32") 2.5 x2 (4-tube)| 2380 6100 1210, 1410. 1080. 1280, 130 | 5 |50
DRF-3205B 5 3.175(1/8") 29.4 2.5 x2 (4-tube)| 1870 5740 109 58 84 32 (106 |12 | 71 | 6.5 105 65 | M6 612'2330' 1152100' 4i%5065(1)'35%5°' 160 | 5 | 60
39 : L L L
" i 610. 810. 1010. 450. 650. 850.
DRF-3206B 6 3.969 (5/32") 28.7 2.5 x2 (4-tube) | 2520 7120 112 62 89 34 (123 (12 | 75 |65 10.5 65 | M6 1210. 1510. 1050. 1350. 160 | 5 | 60
DRF-3606B 6 3.969 (5/32") 32,7 2.5 x2 (4-tube)| 2730 8100 120 65 99 38 | 126 | 15 | 82 9 14 85 M6 81(:'5118101'811%10' 6(:%3083(1).63:)030. 180 | 5 | 70
36 . ) . .
810. 1010. 1210. 630. 830. 1030.
DRF-3610B 10 6.350 (1/4") 31.1 2.5 x2 (4-tube)| 5010 12450 126 75 119 45 (193 [ 18 | 98 | 11 17.5 11 M6 1510. 1810. 1330. 1630. 180 | 10 | 70
. i . | 1210. 1510. 1810. 1030. 1330. 1630.
DRF-4010B 40 10 6.350 (1/4") 35.1 2.5 x2 (4-tube) | 5320 14080 143 82 124 47 |193 | 18 | 102 | 11 175 11 [1/8 2110, 2410, 1930, 2230, 180 | 10 | 80
DRF-4510B 45 10 6.350 (1/4") 40.1 2.5 x2 (4-tube)| 5630 16070 159 88 132 50 |193 [ 18 | 110 | 11 17.5 11 |1/g | 1210- 1510. 1810. 1010. 1310 16101 500 | 10 | 90
2110. 2410. 1910. 2210.
DRF-5010B 50 10 6.350 (1/4") 45.1 2.5 x2 (4-tube) | 5910 17860 173 93 135 51 [193 [ 18 | 113 | 11 175 11 | 1/8" 12122'1;512;“10810' 1319(1)'012122'01610' 200 | 10 | 90

19




20

O
[\I\_/AE STANDARD PARTS

DXF - 0000A

PRECISION - BALL SCREW

s

Oil hole

y

2-SEAL

i

dr
|

Dig6

11

IS N ¢

77

dr

L2

FO - TYPE FD - TYPE H
Ls
Model Screw Ball Root Load rating Stiff Nut (Dimension) Screw shaft length
q . Imren
diameter | lead diameter diameter | Turn x Circuit © C
number ! oa | Body | Flange Set hole
d | Da dr Kgf  Kgf | "9/u4m D A | H|Ln|T PCD| EU7 | Q Ls L1 tsL2 L2 C|B
DXF-1605A 16 5 3.175(1/8") 13.4 2.5 x1 (2-tube) 750 1400 32 40 60 23 | 56 (10| 50 | 45 8 45 M6 610. 810. 1010. 530. 730. 930. 80 | 5 | 30
DXF-2005A 20 5 3.175(1/8") 17.4 2.5 x1 (2-tube) 850 1740 39 44 67 26 | 55 |11 | 55 | 55 9 55 M6 610. 810. 1010. 500. 700. 900. 110 | 5 | 40
" 610. 810. 1010. 480. 680. 880.
DXF-2505A 25 5 3.175(1/8") 22.4 2.5 x1 (2-tube) 930 2240 47 50 73 28 | 55 |11 | 61 | 55 9 55 M6 1210. 1410. 1080. 1280. 130 | 5 | 50
DXF-2805A 5 3.175(1/8") 25.4 2.5 x1 (2-tube) 980 2500 50 55 84 | 31|56 |12| 69 |65 105 65 | M6 61(:-218;0-114(:100- 45:%8068(1).28%80. 130 | 5 | 50
28 ! : ! L
610. 810. 1010. 480. 680. 880.
- : " : . 52 55 84 31 | 63 |12 | 69 |6.5 105 65 | M6
DXF-2806A 6 | 3969(5/32") 24.7 25x1 (2tube) | 1310 3050 210, 1410, 080, 1280, 130 | 5 |50
" 610. 810. 1010. 450. 650. 850.
DXF-3205A 5 3.175(1/8") 29.4 2.5 x1 (2-tube) | 1040 2870 57 58 84 32 | 5 (12| 71 |65 105 65 | M6 1210. 1510. 1050. 1350, 160 | 5 | 60
" 610. 810. 1010. 450. 650. 850.
DXF-3206A 32 6 3.969 (5/32") 28.7 2.5 x1 (2-tube) | 1400 3560 59 62 89 34 | 63 12| 75 [6.5 105 65 | M6 1210. 1510, 1050. 1350, 160 | 5 | 60
610. 810. 1010. 450. 650. 850.
- . " . 2-tub .
DXF-3210A 10 6.350 (1/4") 27.1 2.5 x1 (2-tube) | 2600 5630 61 74 108 |41 (100 (15| 90 | 9 14 85 | M6 1210. 1510, 1050. 1350, 160 | 10 | 55
" 810. 1010. 1210. 630. 830. 1030.
DXF-3606A a6 6 3.969 (5/32") 327 2.5 x1 (2tube) | 1510 4050 64 65 99 3 | 67 (15| 82 | 9 14 85 | M6 VD, T e 180 | 5 |70
" 810. 1010. 1210. 630. 830. 1030.
DXF-3610A 10 6.350 (1/4") 31.1 2.5 x1 (2-tube) 2760 6220 68 75 119 45 (100 | 18 | 98 | 11 17.5 11 M6 1510. 1810. 1330. 1630. 180 | 10 | 70
" . | 1210. 1510. 1810. 1030. 1330. 1630.
DXF-4010A 40 10 6.350 (1/4") 35.1 2.5 x1 (2-tube) 2930 7040 74 82 124 47 |100 | 18 | 102 | 11 175 11 | 1/8 2110. 2410. 1930. 9230. 180 | 10 | 80
" . | 1210. 1510. 1810. 1030. 1330. 1630.
DXF-4510A 45 10 6.350 (1/4") 40.1 2.5 x1 (2-tube) 3120 8060 85 88 132 50 (100 | 18 [ 110 | 11 17.5 11 [ 1/8 2110. 2410. 1930. 2930. 180 | 10 | 80
DXF-5010A 50 10 6.350 (1/4") 45.1 2.5 x1 (2-tube) | 3250 8930 20 93 135 51 | 100 | 18 [ 113 | 11 17.5 11 |1/8" 1212?'13513;“10810' 1?1;?'01212(1)'01610' 200 | 10 | 90

21




22

O
[\I\_/AE STANDARD PARTS

DXF - 0000B

PRECISION - BALL SCREW

dr
|

2-SEAL 'L_.Ir_
N xrr S
AL AA BN
— - Y N | — - — —-—]
./ Jé/é/é/é/L

L2

Ls

Model .Screw ) |3a||t .Root - Load rating S—— Nut (Dimension) Screw shaft length

number dlan:jeter Ielad mr;: er dlar(r;;ater Turn x Circuit I((_::f ?(Z? Kg,/um BoI;iy Flazge H | T |lPcD XSet\i('noIeZ Q Ls L11(Lsl2) |2l c|B
DXF-2005B 20 5 3.175(1/8") 17.4 25x2 (4-tube)| 1530 3520 73 44 67 26 | 85 [ 11| 55 | 55 9 55 M6 610. 810. 1010. 500. 700. 900. 110 | 5 | 40
DXF-2505B 25 5 3.175(1/8") 22.4 2.5 x2 (4-tube) | 1690 4470 90 50 73 28 | 85 [ 11| 61 | 55 9 55 M6 612'2:3;_0' 114210(_)' 4{:%80?82'28?0' 130 | 5 | 50
DXF-2805B , 5 3.175(1/8") 25.4 25 x2 (4-tube)| 1780 4990 98 55 84 |31 |8 |12| 69 |65 105 65 | M6 613-2:3(‘)_0-111‘1‘0‘_’- 4‘3%80‘_383-28%5_‘0- 130 | 5 | 50
DXF-2806B ® 6 | 3.969 (5/32") 247 2.5 x2 (4-tube)| 2380 6100 100 55 84 |31 |99 |12| 69 |65 105 65 | M6 613-218(1)_0-114(:10‘_’- 4‘:‘(’)-80‘.38‘1’-28%?0- 130 | 5 | 50
DXF-3205B 5 3.175(1/8") 29.4 2.5 x2 (4-tube)| 1870 5740 109 58 84 32 | 8 (12| 71 |65 105 6.5 | M6 612'2:3;_0' 115210(_)' 4ﬁ%50?5(1)'35%§°' 160 | 5 | 60
DXF-3206B 32 6 3.969 (5/32") 28.7 2.5 x2 (4-tube)| 2520 7120 112 62 89 3 | 99 (12| 75 (6.5 105 6.5 | M6 613'2:3;_0'115210(_)' 45;’%50‘_353'35?0' 160 | 5 | 60
DXF-3210B 10 6.350 (1/4") 2741 2.5 x2 (4-tube)| 4720 11000 118 74 108 | 41 (157 (15| 90 | 9 14 85 | M6 612'218;_0' 115210(_)' 4?%50‘_552'35%?0' 160 | 10 | 55
DXF-3606B 6 3.969 (5/32") 32.7 2.5 x2 (4-tube)| 2730 8100 120 65 99 38 (10215 | 82 | 9 14 85 M6 81(:'5118_101'811%1_0' 6?%30?3(1)'6310(_)30' 180 | 5 | 70
DXF-3610B 36 10 6.350 (1/4") 31.1 2.5 x2 (4-tube)| 5010 12450 126 75 119 45 [ 160 | 18 | 98 | 11 17.5 11 M6 813'5118_101'811%1_0' eigsoz-asg.esl)(-)so. 180 | 10 | 70
DXF-4010B 40 10 6.350 (1/4") 35.1 2.5 x2 (4-tube)| 5320 14080 143 82 124 47 |160 | 18 | 102 | 11 17.5 11 | 1/8" 1212(:'1;_513"”10?10' 132%0_122(;'0_1630' 180 | 10 | 80
DXF-5010B 50 10 6.350 (1/4") 45.1 2.5 x2 (4-tube)| 5910 17860 173 93 135 51 |160 | 18 | 113 | 11 17.5 11 |1/8" 12122'1;_5134110{310' 1%?0_132122'0_1610' 200 | 10 | 90




24

O
[\I\_/AE STANDARD PARTS

GNR - Series

ROLLED - BALL SCREW (K - type)

QOil hole

Brush type

TYPE-0000A

2-Seal P2 Q
Brush type ’_—‘ Oil hole
Il X
/) i) .
// | @ : TYPE-0000B
e of 5 B —— |
I
T {Q/ Q/ i) |
AN X ]
Y
VIEW X-X _4M
L
Screw Ball Load rati i Nut (Dimension)
Model diameter | lead | diameter diaRn?gtter Tumn x 8: “ Igga A’Sﬂarame : Screw shaft length Model
number d | Da dr Circuit Kgf Kgf | Max,/mm Body Max Set hole Oil_hole B (Standard) number
W L |hl1|h2 |[X|Y M P1|P2| Q
GNR-1605A 16 5 3.175(1/8") 13.4 25 x1 570 1190 0.07 34 | 35 |13 | 31 |26 |22 |M5x08 (dp 8 | 2| 6 | M6 | 8 | 1000. 1500. 2000. GNR-1605A
GNR-2005A 5 3.175(1/8") 17.4 25 x1 640 1520 0.07 48 | 35 |17 | 38 |35 |22 | M6x1.0 (dp10) | 3 | 6 | M6 | 10 | 1000. 1500. 2000. 3000. | GNR-2005A
20
GNR-2010A 10 | 4.763(3/16") 16.3 25 x1 1120 2490 0.10 48 | 58 | 18 | 45 | 35|35 | M6x1.0 (dp10) | O |10 | M6 | 10 | 1000. 1500. 2000. 3000. | GNR-2010A
GNR-2505A 5 3.175(1/8") 22.4 25 x1 730 1970 0.07 60 | 35 | 20 | 44 |40 |22 | M8x1.25(dp12) | 5 | 6 | M6 | 10 | 1000. 1500. 2000. 3000. | GNR-2505A
25
GNR-2510B 10 | 6.350 (1/4") 19.8 25 x2 3150 7230 0.10 60 | 94 | 23 | 53 |40 |60 | M8x1.25(dp12) | O |10 | M6 | 11 | 1000. 1500. 2000. 3000. | GNR-2510B
GNR-2806B 28 6 3.969 (5/32") 25.2 25 x2 1890 5120 0.08 60 | 67 | 22 | 48 | 40|40 | M8x1.25(dp12) | O | 8 | M6 | 12 | 1000. 1500. 2000. 3000. | GNR-2806B
GNR-3210B 32 10 6.350 (1/4") 26.8 25 x2 3650 10550 0.10 70 | 94 | 26 | 60 | 50|60 | M8x1.25(dp12) | O | 10 | M6 | 12 | 1000. 1500. 2000. 3000. GNR-3210B
GNR-3610B 36 10 6.350 (1/4") 30.8 25 x2 3870 11200 0.10 86 | 94 | 29 | 65 |60 |60 | M10x1.5(dp16) | 0 | 10 | M6 | 17 | 1000. 1500. 2000. 3000. | GNR-3610B

25



O
[\I\_/AE STANDARD PARTS

ROLLED - BALL SCREW (U - type

26

GTR - Series

\
w

Model digtr:r:gtvér lead dia?r?tlalter di:rrcl)gtter Turn x L(c;: . ratigga A)glegarance

el d | Da dr Circuit | Kgf  Kgf | Max/mm
GTR-1605A 5 | 3175(1/8") 13.4 25 x1 560 1290 0.07
GTR-1610A 10 | 3175(1/8") 13.4 25 x1 560 1290 0.10
GTR-1620A 10 20 | 3.175(1/8") 13.4 17 x1 380 790 0.10
GTR-1620B 20 | s175(1/8") 13.4 17 x2 690 1580 0.10
GTR-2005A 5 | 3175(1/8") 17.4 25 x1 640 1520 0.07
GTR-2010A 10 | 4.763(3/16") 16.3 25 x1 1120 2490 0.10
GTR-2020A 20 20 | 3.175(1/8") 17.4 1.7 x1 430 830 0.10
GTR-2020B 20 | 3175(1/8") 17.4 17 x2 790 1660 0.10
GTR-2505A 5 3.175(1/8") 22.4 25 x1 730 1970 0.07
GTR-2510A 10 | 6.350(1/4") 19.8 25 x1 1780 3610 0.10
GTR-2510B 25 10 6.350 ( 1/4") 19.8 25 x2 3220 7230 0.10
GTR-2525A 25 | 3.969 ( 5/32") 21.8 1.7 x 1 660 1330 0.10
GTR-2525B 25 | 3.969 (5/32") 21.8 17 x2 1200 2660 0.10
GTR-2806B 28 6 | 3.969(5/32") 25.2 25 x2 1890 5120 0.08

Q
2-Seal Oil hole
Brush type N\~~~
X
// N "—l
"""" 1 2 20
ol sl A ! o 1 /. / < ~ .
I A4
"""" 7/ ] / /
X —
4-Sh
LT
L
Nut (Dimension)
Screw shaft length Model
Body Flange L | pcD Set hole | Qil hole (Standard) number

D W| A | T Sh Q
34 3 | 54 | 10 | 40 | 44 4.5 M6x1.0 1000. 1500. 2000. GTR-1605A
34 3 | 57 | 10 | 50 | 45 5.5 M6x1.0 1000. 1500. 2000. GTR-1610A
34 3 | 57 | 10 | 60 | 45 5.5 M6x1.0 1000. 1500. 2000. GTR-1620A
34 3 | 57 | 10 | 60 | 45 5.5 M6x1.0 1000. 1500. 2000. GTR-1620B
40 42 | 59 | 10 | 40 | 50 4.5 M6x1.0 1000. 1500. 2000. 3000. GTR-2005A
52 58 | 82 | 12 | 61 | 67 6.6 M6x1.0 1000. 1500. 2000. 3000. GTR-2010A
39 41 | 62 | 10 | 60 | 50 5.5 M6x1.0 1000. 1500. 2000. 3000. GTR-2020A
39 41 | 62 | 10 | 60 | 50 5.5 M6x1.0 1000. 1500. 2000. 3000. GTR-2020B
43 45 | 67 11 | 41 | 55 55 M6x1.0 1000. 1500. 2000. 3000. GTR-2505A
60 65 | 96 15 | 62 | 78 9.0 M6x1.0 1000. 1500. 2000. 3000. GTR-2510A
60 65 | 96 15 | 92 | 78 9.0 M6x1.0 1000. 1500. 2000. 3000. GTR-2510B
47 51 | 74 12 | 70 | 60 6.6 M6x1.0 1000. 1500. 2000. 3000. GTR-2525A
47 51 | 74 12 | 70 | 60 6.6 M6x1.0 1000. 1500. 2000. 3000. GTR-2525B
50 52 | 80 | 12 | 65 | 65 6.6 M6x1.0 1000. 1500. 2000. 3000. GTR-2806B

27



O
[\I\_/AE STANDARD PARTS

GTR - Series

ROLLED - BALL SCREW (U - type

2-Seal
Brush type
\
4-Sh
w
Model digg{g'\c’;r lead dia?naclelter diaRn?gtter T o e Axa
urn X Ca Coa Clearance
number d I Da dr Circuit | Kgf Kgf | Max/mm
GTR-3205A 5 3.175(1/8") 29.4 25 x 1 790 2210 0.07
GTR-3210A 10 | 6.350(1/4") 26.8 25 x1 2050 4950 0.15
GTR-3210B 32 10 | 6.350(1/4") 26.8 25 x2 3650 10550 0.15
GTR-3220B 20 | 6.350(1/4") 26.8 25 x2 3650 10550 0.15
GTR-3232B 32 | 4.763( 3/16") 28.3 17 x2 1750 4170 0.10
GTR-3610B 10 | 6.350(1/4") 30.8 25 x2 3870 11200 012
GTR-3620B % 20 | 6.350(1/4") 30.8 25 x2 3870 11200 012
GTR-4010B 10 | 6.350(1/4") 34.8 25 x2 4130 13900 0.12
GTR-4020B 40 20 | 6.350(1/4") 34.8 25 x2 4130 13900 0.12
GTR-4040B 40 | 6.350(1/4") 34.8 17 x2 2810 7150 0.12
GTR-5010B 10 | 6.350(1/4") 44.8 25 x2 4820 15900 0.12
GTR-5020B 50 20 | 6350 (1/4") 44.8 25 x2 4820 15900 0.12
GTR-5050B 50 | 7.938(5/16" 437 1.7 x2 4120 10850 0.15

Q
2-Seal Oil hole
Brush ype .~
X
Y Bl
_______ // '
// 27
ol B — 77 -8 4 _/ 4 <‘ - -
// e | 7 //
"""" 7/ J / /
= .
4-Sh
LT
L
Nut (Dimension)
Screw shaft length Model
Body Flange L | PcD Set hole | Oil hole (Standard) number
D W | A T Sh Q
52 54 | 78 | 12 | 47 | 65 6.6 M6x1.0 1000. 1500. 2000. 3000. GTR-3205A
67 72 | 103 | 15 | 67 | 85 9.0 M6x1.0 1000. 1500. 2000. 3000. GTR-3210A
67 72 | 103 | 15 | 97 | 85 9.0 M6x1.0 1000. 1500. 2000. 3000. GTR-3210B
67 72 | 103 | 15 | 90 | 85 9.0 M6x1.0 1000. 1500. 2000. 3000. GTR-3220B
58 62 | 92 | 12| 87| 74 9.0 M6x1.0 1000. 1500. 2000. 3000. GTR-3232B
70 76 | 109 | 17 | 98 | 90 11.0 M6x1.0 1000. 1500. 2000. 3000. GTR-3610B
70 76 | 109 | 17 | 92 | 90 11.0 M6x1.0 1000. 1500. 2000. 3000. GTR-3620B
76 82 | 116 | 17 | 98 | 96 11.0 M6x1.0 1000. 1500. 2000. 3000. 4000 GTR-4010B
76 82 | 116 | 17 | 92 | 96 11.0 M6x1.0 1000. 1500. 2000. 3000. 4000 GTR-4020B
73 79 | 114 | 17 |107 | 93 11.0 M6x1.0 1000. 1500. 2000. 3000. 4000 GTR-4040B
88 94 | 128 | 17 | 98 | 106 11.0 M6x1.0 1000. 1500. 2000. 3000. 4000 GTR-5010B
88 94 | 128 | 17 | 92 | 106 11.0 M6x1.0 1000. 1500. 2000. 3000. 4000 GTR-5020B
90 96 | 135 | 20 |125 | 112 14.0 M6x1.0 1000. 1500. 2000. 3000. 4000 GTR-5050B

29



